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Answer Key (Catch Code: 8120)

SUBJECT:

PAPER: Inorganic Chemistry

a
%CCBBCCADDBBCBCBBBCABBBDAABCACCBDCABDBDCACACBCBBCBB
n
Q
slojojofojonjo|njnjo|o|<|nojo|al<| < no|<|olo|n|ajo|<|n|aln|0]o|<|O(<|Oo|n|Oo|n|n|o|n|m|m|n|alo|m|alm|o

V.S

Q

KB

mWw.%CABBBDAABCACCBDCABDBDCACACBCBBCBBBBDBBDBCBDCCBBBCA
(2]

2

AA
.%CACCBDCABDBDCACACBCBBCBBBBDBBDBCBDCCBBBCACBCCABCBC
(2]
m1234567890123456789012345678901234567890123456789m
Q.55555555566666666667777777777888888888899999999991
2
ol0|o|<|ojo|jo|n|o|o|<|o|o|ojn|njajofo|on|ojo|an|o| | 0| | <o(a(ajlo|lo|n|an|o|o| < 0| olnlojo|n|o|ajo|<|o|m
n
Q
glo|ojojnjo|ga|C|<|Oo|n|ojo|o|n|n|mn|o|C|al|o|nn|a|C|ajn|o|m|o|oL|o]o|m|o|a|lo||o|mo|o|a|mnjojo|L]|a

V.S

Q

KB

mWw.%BACBBDADBCBCCABCBCDCACBBDCBCABAACCCBBCCADDBBCBCBBB
(2]

2

AA
.%DCACBBDCBCABAACCCBBCCADDBBACBBDADBBCBCBBBCABBBDAAB
(2]
o
2| ol of 5| 0| of [ o o| 2| | ] 2| ] 2l 2 | 2| 2f & | | ] 3| %] | | =] & 8| 7| 8] 9] 3] 2] 8] 5 8| | 2| 5| 9| 2| %] 2 ¢ | 2| 2| B
(¢]




